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Code No.
dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

Candidates  must  write the code on
the title page of the answer-book.

ijh{kkFkhZ dksM dks mÙkj&iqfLrdk ds eq[k

i`"B ij vo'; fy[ksaA

• Please check that this question paper contains 11 printed pages + 2 Maps.
• Code number given on the right hand side of the question paper should be written on

the title page of the answer-book by the candidate.
• Please check that this question paper contains 27 questions.
• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 11 + 2 ekufp=k gSaA
• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 27 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

SOCIAL SCIENCE
lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku

Time allowed : 3 Hours ] [ Maximum Marks : 100

fu/kkZfjr le; : 3 ?k.Vs vf/kdre vad :  100

General Instructions :

1. Answers to questions carrying 2 marks should not exceed 30 words
each.

2. Answers to questions carrying 4 marks should not exceed 60-80 words
each.

3. Answers to questions carrying 6 marks should not exceed 100-125 words
each.

4. Maps should be securely tied in the middle of the Answer-Book.

5. Attempt all parts of a question together.

6. Stencils or templeates for drawing outline maps may be used wherever
necessary.

lkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'k :

1. 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA
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2. 4 vadksa okys izR;sd iz'u dk mÙkj 60 ls 80 'kCnksa ls vf/kd u gksA

3. 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls vf/kd u gksA

4. ekufp=kksa dks mÙkj&iqfLrdk ds chp esa etcwrh ls ckaf/k,A

5. fdlh iz'u ds lHkh Hkkxksa ds mÙkj lkFk&lkFk nhft,A

6. tgk¡ dgha vko';d gks LVSaflyksa vFkok lakpksa dks js[kk&ekufp=k cukus ds fy, bLrseky fd;k

tk ldrk gSA

1. Name two island groups of India. Mention one feature of each island group.    1+1=2

Hkkjr ds nks }hi lewgksa ds uke crkb;s vkSj izR;sd }hi lewg dh ,d fo'ks"krk crkb;sA

2. “Intimate connections with nature and season can be seen in our music.” Give

two examples to support this statement. 1+1=2

^^izÑfr rFkk _rqvksa ds lkFk xgjs lEcU/k gekjs laxhr esa ns[ks tk ldrs gSaA** nks mnkgj.k nsdj

bl dFku dk leFkZu dhft,A

3. State any four salient features of ‘National Highways’. 4×1/2=2

^jk"Vªh; egkekxks±* dh fdUgha pkj izeq[k fo'ks"krkvksa dk mYys[k dhft,A

4. What is a multipurpose project ? Mention any two purposes served by a

multipurpose project. 1+1=2

cgqmís'kh; ifj;kstuk D;k gS \ cgqmís'kh; ifj;kstuk }kjk lsfor fdUgha nks mís';ksa dk

mYys[k dhft,A

5. Explain any two human activities responsible for land degradation. 2×1=2

Hkw{kj.k ds fy, mÙkjnk;h fdUgha nks ekuoh; dkj.kksa dh O;k[;k dhft,A

6. Define the term ‘Human-made (cultural) Resources’. Give two examples of

these resources. 1+1=2

^ekuo fufeZr ¼lkaLÑfrd½ lalk/kuksa* dh ifjHkk"kk nhft,A bu lalk/kuksa ds nks mnkgj.k

nhft,A

7. Why is it necessary to conserve our natural resources ? Give two reasons.       2×1=2

izkÑfrd lalk/kuksa dk laj{k.k djuk gekjs fy, D;ksa vko';d gS \ nks dkj.k nhft,A
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8. Study the map given below, showing distribution of forests in India and answer

the questions that follow : 1+1=2

(8.1) Name any two states from north-east India having more than 60 per cent
of their area under forest cover.

(8.2) Why have these states larger forest area ? Give two reasons.
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uhps fn, x, ekufp=k dk v/;;u dhft,] ftlesa Hkkjr esa ouksa dk forj.k fn[kk;k x;k gS

vkSj mlds uhps fn, x, iz'uksa ds mÙkj nhft, %

(8.1) Hkkjr ds fdUgha nks mÙkj&iwohZ jkT;ksa ds uke crkb,] ftuesa mu ouksa ds vUrxZr {ks=kQy

60 izfr'kr ls vf/kd Hkw&Hkkx ij gSA

(8.2) bu jkT;ksa esa ou {ks=k vf/kd D;ksa gS \ nks dkj.k nhft,A
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Note : The following question is for Blind Candidates Only in lieu of Q. No. 8 :

uuuuuksV %ksV %ksV %ksV %ksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 8 ds LFkku ij gS %

Explain two reasons for having high percentage of forest cover in

North-Eastern States of India.

Hkkjr ds mÙkj&iwohZ jkT;ksa esa ou {ks=kksa ds mPp izfr'kr gksus ds dkj.kksa nksnksnksnksnks Li"V dhft,A

9. State any two problems that forced India after 1991 to undertake New

Economic Policy. 2

Hkkjr dks 1991 ds ckn ubZ vkfFkZd uhfr viukus ds fy, ck/; djus okyh nks leL;kvksa

dk mYys[k dhft,A

10. Mention two features of capitalist economy. 1+1=2

iwathokn vFkZO;oLFkk dh nks fo'ks"krk;sa crkb;sA

11. State two beneficial and two harmful effects of W.T.O. (World Trade

Organization) on Indian economy. 1/2×4=2

Hkkjrh; vFkZO;oLFkk ij fo'o O;kikj laxBu ds nks ykHknk;d vkSj nks gkfudkjd izHkko

crkb;sA

12. “Problem of resource allocation in mixed economy is effectively solved
through market forces and planning process.” Give two facts to support this

statement. 2

^^fefJr vFkZO;oLFkk esa lalk/kuksa ds vkoaVu dh leL;k cktkj dh 'kfä;ksa rFkk

;kstuk izfØ;k ls izHkkoh <ax ls r; dh tkrh gSA** bl dFku ds leFkZu esa nks rF;

nhft,A
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13. “A moderate and gradual rise in price for all the goods is considered good for
any country.” Do you agree with this view ? Give two arguments to support

your answer. 2

^^lHkh oLrqvksa esa lk/kkj.k vkSj 'kuS%&'kuS% ewY;ksa esa o`f) fdlh Hkh ns'k ds fy, vPNh

ekuh tkrh gSA** D;k vki bl fopkj ls lger gSa \ vius mÙkj ds leFkZu esa nks

rdZ nhft,A

14. Differentiate between classical kathak dance and kathakali dance with their

main features. 4

'kkL=kh; dFkd u`R; vkSj dFkdyh u`R; esa mudh fo'ks"krkvksa lkfgr varj crkb;sA

15. “Literary tradition of India is very old and rich.” Explain this statement giving

four examples. 4

Or

What is a Stupa ? Explain the historical importance of Sanchi Stupa. 4

^^Hkkjr dh lkfgfR;d ijEijk cgqr izkphu vkSj le`) gSA** pkj mnkgj.k lfgr O;k[;k

dhft,A

vFkokvFkokvFkokvFkokvFkok

Lrwi D;k gS \ lkaph ds Lrwi dk ,sfrgkfld egÙo crkb;sA

16. Explain the importance of ‘Radio’ and ‘Television’ as effective means of mass

communication in our country. 2+2=4

gekjs ns'k esa tulapkj ds izHkkoh lk/kuksa ds :i esa ^jsfM;ks* vkSj ^nwjn'kZu* dh egÙkk

Li"V dhft,A
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17. Describe the meaning of liberalisation of an economy. Mention two main
components of the liberalisation policy with examples. 4

vFkZO;oLFkk esa mnkjhdj.k ls D;k vfHkizk; gS \ mnkjhdj.k uhfr ds nks izeq[k Hkkxksa dk

mnkgj.k lfgr o.kZu dhft,A

18. What is meant by cross border terrorism ? Give its main characteristics. 4

lhek ikj vkradokn ls D;k vFkZ gS \ bldh eq[; fo'ks"krk;sa crkb;sA

19. Explain three strategies adopted by the government to protect the interest of

consumers with reference to Consumer Protection Act of 1986. 4

Hkkjr ljdkj }kjk miHkksäkvksa ds fgrksa dh j{kk ds fy;s viuk, x, rhu mik;ksa dk

fo'ks"k :i ls 1986 ds miHkksäk laj{kd vf/kfu;e ds lanHkZ esa O;k[;k dhft,A

20. Explain the measures adopted by the Indian government to protect our natural

and cultural heritage. 6

Hkkjr ljdkj }kjk izkÑfrd o lkaLÑfrd fojklr ds laj{k.k ds fy;s viuk;s x;s mik;ksa

dh O;k[;k dhft,A

21. Explain any three physical and three human factors for the localisation of an

industry in a particular area. 3+3=6

fdlh {ks=k fo'ks"k esa fdlh m|ksx ds LFkkuhdj.k djus ds fy, mÙkjnk;h fdUgha rhu HkkSfrd

rFkk rhu ekuoh; dkjdksa dh O;k[;k dhft,A

22. What is ‘Energy Conservation Act’ ? Describe five measures for efficient use

of energy. 1+5=6

^ÅtkZ laj{k.k ,DV* D;k gS \ ÅtkZ ds dq'ky mi;ksx ds fy, ik¡p mik;ksa dk o.kZu

dhft,A
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23. What is food security ? Explain any five problems related with food security

of India. 1+5=6

Or

Explain six main features of subsistence farming in India. 6×1=6

[kk| lqj{kk D;k gS \ Hkkjr dh [kk| lqj{kk ls lacaf/kr fdUgha ik¡p leL;kvksa dh O;k[;k

dhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr esa vkRefuokZg Ñf"k dh N% eq[; fo'ks"krkvksa dh O;k[;k dhft,A

24. Examine the causes for the rise in prices in India. Give six reasons. 6

Or

Examine the causes of poverty and explain any three measures adopted to

remove poverty in India.

Hkkjr esa ewY;ksa esa o`f) ds dkj.kksa dh leh{kk dhft,A dksbZ N% fcUnq nhft,A

vFkokvFkokvFkokvFkokvFkok

xjhch ds dkj.kksa dh leh{kk dhft,A Hkkjr esa xjhch dks gVkus ds fy;s viuk;s x;s

dksbZ ls rhu mik;ksa dh O;k[;k dhft,A

25. Define sex ratio. Describe the trend of sex ratio in India since 1951. What are

the factors behind the imbalanced sex ratio in India ? 6

Or

Distinguish between economic development and human development. How are

they interrelated with each other ?

fyax vuqikr dh ifjHkk"kk crkb;sA 1951 ds ckn Hkkjr esa fyax vuqikr ds #>kuksa dk

o.kZu dhft,A Hkkjr esa vlUrqfyr fyax vuqikr ds ihNs D;k dkj.k gSa \
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vFkokvFkokvFkokvFkokvFkok

vkfFkZd fodkl vkSj ekuo fodkl esa vUrj crkb;sA os ,d&nwljs ls fdl izdkj lEcfUèkr

gSa \

26. Define communalism. Explain the causes for the rise of communalism in

India. 6

lkEiznkf;drk dh ifjHkk"kk crkb;sA Hkkjr esa lkEiznkf;drk ds c<+us ds dkj.k crkb;sA

27. On the given map of India (27 a):

27 (a) Locate and label two states each having one of the following

monuments and attach the map in your answer book : 2

(1) Martand Temple     (2) Hoysaleshwara Temple

Hkkjr ds fn, x, ekufp=k esa ¼27 d½ %

27 ¼d½ nks jkT;ksa dks igpku dj muds uke fyf[k, ftuesa fuEufyf[kr bekjrsa fLFkr

gSa vkSj ekufp=k dks mÙkj iqfLrdk ds lkFk layXu djsa %

(1) ekrZ.M eafnj] (2) gks;lkys'oj eafnj

Note : The following question is for Blind Candidates Only in lieu of
Q. No. 27 (a).

uuuuuksV %ksV %ksV %ksV %ksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 27 ¼d½ ds LFkku

ij gS %

Write the names of two states, for each monuments, in which they are
situated :

(1)    Martand Temple   (2)    Hoysaleshwara Temple

nks jkT;ksa ds uke fyf[k;s ftuesa fuEufyf[kr bekjrsa fLFkr gSa %

(1) ekrZ.M eafnj  (2) gks;lkys'oj eafnj
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27(b) In the given outline political map of India  (27 b & c) are shown three
geographical features. Identify these features marked as A, B, C. Write
their names correctly on the space provided in the map. Attach the

map in your answer-book. 1×3=3

¼[k½ fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼27 [k ,oa x½ esa rhurhurhurhurhu HkkSxksfyd y{k.k

d] [k] xd] [k] xd] [k] xd] [k] xd] [k] x fn[kk, x, gSaA bu y{k.kksa dh igpku dhft, rFkk muds lgh uke

fu/kkZfjr LFkku ij fyf[k,A ekufp=k dks mÙkj&iqfLrdk ds lkFk layXu dhft,A

27(c) In the same given outline political map of India  locate and label
the following features and attach the map in your answer-book : 3×1=3

(i) Koyali Oil Refinery,

(ii) Salem Iron and Steel Plant,

(iii) V ishakhapatnam Port.

¼x½ blh fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k esa fuEufyf[kr y{k.kksa dh fLFkfr

fn[kkb, vkSj muds uke fyf[k, vkSj ekufp=k dks mÙkj&iqfLrdk ds lkFk layXu

dhft, %

(i) dks;yh rsy ifj"dj.k'kkyk

(ii) lsye yksgk vkSj bLikr la;a=k

(iii) fo'kk[kkiÙkue iÙku

Note: The following question is for the Blind Candidates Only in lieu of
Q. No. 27 ‘b’ and 27 ‘c’ :

(27.1) Name any one Software Technology Park located in Karnataka.

(27.2) Name the thermal power plant located at the head of Gulf of Khambat in
Gujarat.

(27.3) Name the International Air Port located in Assam.

(27.4) Name any one oil refinery of Gujarat.

(27.5) Name the iron and steel plant of Tamil Nadu.

(27.6) Which is the major sea port of Andhra Pradesh ?
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uuuuuksV %ksV %ksV %ksV %ksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksadsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 27 ^[k* vkSj

27 ^x* ds cnys esa gSa %

(27.1) dukZVd jkT; esa fLFkr fdlh ,d lk¶Vos;j izkS|ksfxdh ikdZ dk uke crkb,A

(27.2) xqtjkr esa [kEHkkr dh [kkM+h ds fljs ij fLFkr rki 'kfä dsUnz dk uke crkb,A

(27.3) vle esa fLFkr vUrjkZ"Vªh; ok;q iÙku dk uke crkb,A

(27.4) xqtjkr dh fdlh ,d rsy ifj"dj.k'kkyk dk uke crkb,A

(27.5) rfeyukMq ds yksgk vkSj bLikr la;a=k dk uke crkb,A

(27.6) vka/kz izns'k dk izeq[k leqnzh iÙku dkSu lk gS \
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